
 

103  
- ( ) F7801-F7804  
- ( ) F7805-F7808  

F7809  

1  _____________ 



 

 50 2 2B
 

 ( )

10  



  

1 1.  1

 

  

  

  

  

 

 

2 2.

 

  

  

  

 -  

2 3. A B C D 3 A

B C D E

 

     

     

1 4.  

A.    B.  

C.   D.  

E.  

 AC  ACE  ABC  BDE 

2 5. 5 0v

 

 0  

 0  

 0   

 0v 0v  

 

3 6. 100

2 30 4 5 50 /

30 /

  

 5   5   10   10  

1 7. ( ) 7 0x

1x  

  

  

  

  

4 8. (SI )  

    

    

3 9.

 

  

  

  

  

4 10.  

        

3 11. 30 11 A

B

 

 47 141   141 47  

 42   60  

4 12.

 

  

  

  

  

1 13.  

        

2 14.  

 X        

3 15. S 15  

 A   E F  

 D   B F  

4 16. 1909

1923

 


17104   

16106.1   
18108.4   

20108   

2 17.

 

     

    

3 18.

 

        

2 19. 15 W 5

2000 cc 10 m 10.0 m/s
2

 

 135  1350  13500  27000 

1                          

 

  

 

            

3                          

 

            

5                          

 

0v  

 

            

7                          

 

y (cm) 

x (m) 0 1 

3 

2 3 

-3 

 

            

11                          

 

A 

B 

 

            

15                          

 

            



1 20. 20 50 15

 

  

  

  

  

2 21.  

 

 

 

 

 

 

4 22. 22 20.0
2/0.2 sm 23.0

2/0.4 sm  

 46.0  40.0  32.0  26.0 

1 23. 2011 4 17 5.7 P

6.0 / S 4.0 /

18  

 215  230  245  260 

4 24. 2mc
hc

hE 


 mcp  650 

nm 450 nm x y ( x y )  

 (
9

13

13

9
)  (

9

13

9

13
)  (

13

9

9

13
)  (

13

9

13

9
) 

2 25. 1N 2N 21 NN   

   1I 1

2

1
2 I

N

N
I 








  

   1V 1

2

1
2 V

N

N
V 








  

1 26.  

        

2 27.  

    

 PV=nRT  =0 

2 28. 10% 200 5% 800

%  

 3%  6%  8%  12% 

1 29. NaCl 42CrOK  

 Ba
2+ 

 Pb
2+ 

 Ag
+ 

 Hg2
2+

 

3 30.  

    

 C7H8   

3 31.  

    

    

1 32. H2CO3 aq +H2PO4 aq HCO3 aq +H3PO4 aq  

 H3PO4  HCO3
 

 H2PO4
 

 H2CO3 

2 33. 25 1M  

 pH+pOH>14  pH>pOH  [H
+
]=14M  Kw<10

14 

4 34.  

 +1 +2 +5  +3 +3 +3  +2 +4 +6  +5 +3 +1 

3 35. [Fe(C2O4)3]
3

 

 3       

3 36. C60  

 sp
3

1 

 sp
2

1
3

1
 

 sp
2

1
3

1
 

 sp
3

1
2

1
 

4 37. π  

 C2H2  O2  HCN  PCl3 

4 38.  

        

2 39.  

 CaO>MgO>KF>NaF   MgO>CaO>NaF>KF  

 NaF>KF>MgO>CaO   KF>NaF>CaO>MgO 

4 40. 0.1m a C12H22O11 b NaCl

 

 a > b   a > b  

 a < b    a = b  

3 41. 25 3 A 2 B 200mmHg

A 0.6 25 B mmHg  

 100  150  200  250 

3 42. A aq + B aq C aq +2D aq  

 = =0  A B C D  

 A B C D   A B C D 1 1 1 2 

2 43. 25 A g + 2B g C g 5 1 A 2 B

0.5 C Kc  

 50  25  15  5 

2 44. 25 Ag2CO3
4103  M Ksp  

 
71080.1    

101008.1    
12103.82    

15104.56   

4 45. 25  

 NH4Cl  KH2PO4  NaH2PO3  KH2PO2 

3 46. Ni Ag
+

1.05 Ni
2+

-0.25 Ag
+

 

 -0.80  -1.30  0.80  1.30 

3 47. Pt 0.1M  

        

4 48.  

        

2 49.  

 24K        

4 50.  

 2 3   2  

 3 2   2 2  

     

     

     

     

     

20                          

 
 

            

22                          

 

            


